February 15, 2017

/-3 Solving Exponential and

Logarithmic equations

Objectives:

- | can solve exponential and

logarithmic equations
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Solving Graphically
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Solve the following equation graphically
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Mym@ations Algebraically

(-/get logarithm/exponent by itself
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Solve the following equations
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Solve the following equations
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Suppose that $250 posited into an account that pays

\0}495% compounded /\,‘L‘*o for ¢ to find how long it
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Suppose that you deposit $2500 into an account
that earns a 4.5% interest rate. How long will it
take to reach $4200.
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Solve the following
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Solve the following

log x* =2

4in(x+7)-5=1
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Solve the following

3—log(x+2)=35

log,(1-x)=1




